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BRASSINSTRUMENT SIMULATION USING PDE SOLVER PSILAB
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We carry out the numerical simulation of two-dimensional air column vibration model in the brass instrument

tube (trumpet) by using PDE (partial differential equation) solver PSILAB. In the case that viscosity and sound

radiation from remote end are considered, resonance frequencies of two-dimensional model approach to ones

of one-dimensional model in low frequency. But, in high frequency, different result appears. In this paper, we

also state problems encountered in using PSILAB.

Key Words : brass instrument, simulation, viscosity, radiation, resonance frequency, PSILAB
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